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A car accelerates from rest at a constant rate « for some time after which it decelerates at a
constant rate 3 to come to rest. If the total time elapsed is t seconds, the total distance

travelled is :
Options :
- 2ap o

8643518641, (@ T P)

t

o B
2(a + B)

tE

8643518642.

da B
(« + B)

8643518643.

o B

4 (o 4
8643518644, * (@ T B)

Question Number : 1 Question Id : 8643512881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

féa a9 Agnw=t wid™H »iTAE™ 3 J3 AH B8l a T 3 YR aist d v gwmE g p =9 3

wiRfar3 St aret 9 | 3T fa fog wiragTH wierET fE9 »iT 972 | H9d I8 HHT t Hi5e7 J 3T I8 I
Cicik=cillle
Options :

" 2ap 2
8643518641, \« T P
o 3 +2
8643518642, 2@ T P)
s g
aB o

8643518643, (@t B)

«B 2

—  t
8643518644, 1 (@ T B)
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Question Number : 2 Question Id : 8643512882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A modern grand - prix racing car of mass m is travelling on a flat track in a circular arc of
radius R with a speed v. If the coefficient of static friction between the tyres and the track is
1, then the magnitude of negative lift F; acting downwards on the car is : (Assume forces on

the four tyres are identical and g=acceleration due to gravity)

&

Options :

8643518645.

2
i)
m[ g 1
s R

8643518646. * i

s
o

m —R ﬂ 1

8643518647, ' J

2
i)
mj| g 4 R W
|1
8643518648. \ b4

Question Number : 2 Question Id : 8643512882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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m UA & ffa »¥el 98- Yfar ge37at g R »iay fenrr € 9 Ja97ag 2ad 9 AH3S 2da
(yarsst) 873 o 3131 3% w8t I | Had 2fed YarEst (299) fegarg Al 391 aed p, I 37 a9
G T8t for 29 Sa o0t foezva fege | &1 H3a™ I | (Hs B2 970 ofed’ 3 98 AH'S J %3

g =Jg3FIHE Y1)

T

Options :

02
m } ?'W
{”‘ R J

I?z W
5
I'-LER/I

8643518645.

8643518647.

02
I'ﬂ{g | —R }
8643518648, o

Question Number : 3 Question Id : 8643512883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Carnot’s engine working between 400 K and 800 K has a work output of 1200 | per cycle.
The amount of heat energy supplied to the engine from the source in each cycle is :

Options :

8643518649. =L
8643518650, 1000 ]
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8643518651. ey

8643518652, 1000 ]

Question Number : 3 Question Id : 8643512883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

400 K »2 800 K f¥5a3 aH &9 foar feg gaae ffas 1200 | Y=t S99 aH &1 AHTET (Work

output) IHTT T | I Jag T foas § {3 T Y= S5t A T 3 G S U I ¢
Options :

8643518649. 2400 ]

1600 |
8643518650,

8643518651. 3200 ]

8643518652, 1800]

Question Number : 4 Question Id : 8643512884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solenoid of 1000 turns per metre has a core with relative permeability 500. Insulated
windings of the solenoid carry an electric current of 5 A. The magnetic flux density produced

by the solenoid is : (permeability of free space =47 x10~7 H/m)

Options :
i
8643518653, 10w T
3 _
8643518654, 2 X107 w T
o
8643518655,
8643518656,
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Question Number : 4 Question Id : 8643512884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1000 Y=t Hieg uwnrg €1 ffa AtaTes 500 356™3HE UTgaTH3T AfEg »ig & foa =g a1 que
J 1 8 5 A T 932 I9sd wH'S fI9 Et BweT J | ASteTEs gwraT U Ji3t 9udt Fam St waa

J1 (UFFH3T Ha3 AUA=47x10"7 H/m)
Options :

4
8643518653, 10 ™ T

3
8643518654, 2 <10 " T

| =

T
8643518655. 7

8643518656, T |

Question Number : 5 Question Id : 8643512885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A current of 10 A exists in a wire of crosssectional area of 5 mm? with a drift velocity of

2x107 3 ms~ 1. The number of free electrons in each cubic meter of the wire is
Options :

:
8643518657, 2 <107

23
8643518658, 1 <10

; 25
8643518659, 025 % 10

25
8643518660, 2< 10

Question Number : 5 Question Id : 8643512885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
5mm2 e HITes B T 3T T 10A Je 2x10 3 ms~ 12 Fgee TMEB Hge T | I9 €

J99 W= Hieg fZ9 vaz felaes & AT Ji
Options :
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&
8643518657, =< 10
8643518658, 1% 10%
: 25
8643518659, 025 <10

8643518660, 2% 102

Question Number : 6 Question Id : 8643512886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A mass M hangs on a massless rod of length [ which rotates at a constant angular frequency.
The mass M moves with steady speed in a circular path of constant radius. Assume that the
system is in steady circular motion with constant angular velocity w. The angular momentum
of M about point A is L, which lies in the positive z direction and the angular momentum of
M about point B is L;. The correct statement for this system is :

L, and Ly are both constant in magnitude and direction
8643518661.

8643518662. L,q is constant, both in magmtude and direction

8643518663. LB is constant, both in magnitude and direction

Ly is constant in direction with varying magnitude
8643518664. g
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Question Number : 6 Question Id : 8643512886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fx Ua M, | Zavet & ffa Ua-Ha3 831 58 Searont J faast ot ffa nes dat nrefast 58
WHET J | ya M AfEg 3rFt &% o9 Afgg »ag fani € 9agag U (FR3)3 98 J | Ha B2 fa
feereg feq Rfgg 32t 91 w '3 Afgd Jagae 975 fEg I | fig A 3 M © oS d31 HIdT Ly
frog fa gaava z fer fR9 I w3 g BI M © ©w8 3 33T W Ly J | fow feemer wet mat
qE5 J

Options :
8643518661, L, 3 Ly & »98 H3T" i3 foar 9

8643518662, La P98 J, €6 WG #3 femr K9

8643518663, L M98 J, €& W33 »i3 femr f&9

8643518664, B r" {29 Afgg I w3 w3gr f99 5e8™i J |

Question Number : 7 Question Id : 8643512887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An AC current is given by I=1; sinwt+ [, coswt. A hot wire ammeter will give a reading :
Options :
L+ 1

8643518665. V2

8/87



3/17/2021

8643518666.

I3

8643518667. \l

8643518668. \I

Question Number : 7 Question Id : 8643512887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
féa AC Agae I=1, sinwt+1, coswt Tna f&37 J | 0 a9n 39 T #wHHled foa u=s3

o
Options :
L +1,
2
8643518665. =
L + 1,

8643518666, 2v2

8643518667. \}

JI; I
8643518668. 2

Question Number : 8 Question Id : 8643512888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A polyatomic ideal gas has 24 vibrational modes. What is the value of v ?
Options :

8643518669, 10-3
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8643518670, 120

8643518671, 1-03

8643518672, 137

Question Number : 8 Question Id : 8643512888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fea ggyH==t »i™=a I 24 FUS 39 (BT U T | yTHE AT T ?
Options :

8643518669. 10.3

8643518670, 1>V

8643518671, 103

8643518672, 137

Question Number : 9 Question Id : 8643512889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
When two soap bubbles of radii a and b (b > a) coalesce, the radius of curvature of common
surface is :

Options :

ab

b—a

8643518673.

ab
a+b

8643518674.

-b a
ab

8643518675.

.alh
ab

8643518676.
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Question Number : 9 Question Id : 8643512889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a »3 b (b> a) WdT fan™ € € ATYS ¥ 9893 7 wiyH &9 fHEe 78 37 ATt A3fg or S9a3r =
wigy fan™ T
Options :
ab
b—a

8643518673.

ab
+ b

8643518674, &

.b a
8643518675, ab

a+b
8643518676, ab

Question Number : 10 Question Id : 8643512890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A triangular plate is shown. A force F = :1.;'\' "’.; is applied at point PP. The torque at point

P with respect to point ‘O’ and ‘Q’ are :

Ya

» X
O
fe——10 c1114HQ
Options :
2
2643518677 — 15 — 2043, 15— 2043
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3643518678, 15 + 2043, 15 — 203

3643518679, 15 — 20v/3, 15 + 20,3

8643518680, 15 + 2043, 15 + 2043

Question Number : 10 Question Id : 8643512890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
foa 3ot ue et ) Rig I us F = 47 - 3j sarfonr I RigPSuafiz Ow3 Q

T 923 799 I5 :

Y

O
e—10 cm—— Q
Options :

s643518677. 15~ 20V3, 15 - 203

8643518678, 15 + 203, 15 — 2043

8643518679, 15 — 2033, 15 + 203

8643518680, —15 + 20V3, 15 + 2043

Question Number : 11 Question Id : 8643512891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical metal wires of thermal conductivities K, and K, respectively are connected in

series. The effective thermal conductivit}-' of the combination is :

12/87
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Options :

8643518681.

8643518682.

8643518683.

8643518684, ST

Question Number : 11 Question Id : 8643512891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

K, »3 K, 3V 983" ¥ © fa-me U3 397 § B39y 361 &8 dfw fam 3 1| Aaar &

YFEaS IY IBAITY
Options :

K; K,
8643518681, ™1 T K2

2K, K,
8643518682, 1 T K2
A

L
8643518683, 1 K2

r4

8643518684, 1 K2

Question Number : 12 Question Id : 8643512892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A boy is rolling a 0.5 kg ball on the frictionless floor with the speed of 20 ms~!. The ball gets
deflected by an obstacle on the way. After deflection it moves with 5% of its initial kinetic
energy. What is the speed of the ball now ?

Options :

8643518685, 1.00 ms ™!

1
8643518686, -1/ ms

1
8643518687, 1441 ms

1
8643518688, 19-0 ms

Question Number : 12 Question Id : 8643512892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e B=a7 0.5 kg =1 ffa 9i€ & 9912 Ho3 290 3 20 ms 1 & 9131 5% g3 J | die gAs f&g ud
fog gam=e 3 W3 772t I | HIS 3 g o »iust AgnrRt aif3a @9 2 5% 38 98t J | IS

Jedtastata ?
Options :

1
8643518685, 10U ms

i 1
8643518686, 147 ms

1
8643518687, 1441 ms

8643518688, 19:0 ms™ !

Question Number : 13 Question Id : 8643512893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The thickness at the centre of a plano convex lens is 3 mm and the diameter is 6 cm.  If the
speed of light in the material of the lens is 2 x 108 ms ~ 1. The focal length of the lens is
Options :

8643518689, U cm

14/87



3/17/2021

8643518690, 15 cm

8643518691, 1 cm

8643518692, 0-30 cm

Question Number : 13 Question Id : 8643512893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foa AH3E- 830 859 © ded 3 He™l 3 mm J =3 fa™ 6 cm I | 793 889 © W 29

ya| &1 a3t 2x 108 ms~1 I | 3T Hza ©t SFH T JI
Options :

8643518689, U €M

8643518690, 12 €M

8643518691, 1.5 cm

0.30 cm
8643518692.

Question Number : 14 Question Id : 8643512894 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which level of the single ionized carbon has the same energy as the ground state energy of
hydrogen atom ?

Options :
8643518693.

8643518694.

8643518695, ©

8643518696.
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Question Number : 14 Question Id : 8643512894 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fEa8 »es 9 Jra9s © faa3 1ud (828) 3 G977 Telgns yH'e ©f 3-331 G € 5a§a J 7
Options :

8643518693, 1

8643518694, 4

8643518695, °

8643518696. 8

Question Number : 15 Question Id : 8643512895 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two ideal polyatomic gases at temperatures T, and T, are mixed so that there is no loss of
energy. If F; and F,, m; and m,, n; and n, be the degrees of freedom, masses, number of
molecules of the first and second gas respectively, the temperature of mixture of these two
gases 1s:
Options :
n{T; + noBTy

8643518697. oy F W

. n lFl Tl { I'IEFETE
8643518698. F+BK

-I'I 1F1 Tl f I'IzeTZ
8643518699,  Mif1 T N2y

: n 1T1 { I'isz

ny + ns

8643518700,

Question Number : 15 Question Id : 8643512895 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

16/87



3/17/2021
T, »3 T, IUHE 3 € wEgH SgYHT=! oA = fHaae fazr J 37 fa §78 a¢t Gaar = sans &1
J | ¥dd Fy #3 Fp, my »3 m,, ny W3 n, FHIT HIZT &1, UaT, UTTRT »i3 g W =t »ig
At J | S JHT & THHIS & 3UH™S J

Options :
.I"I]_F]_Tl 1 I12F2T2
8643518697. Ty
-I'IIFITI 1 I'IzeTz
8643518698. F+5K

. Iy Fl Tl { I'IzeTz

8643518699, MiF1 T 2k

: n lTl 1 I'Isz

8643518700. ™M1 T 12

Question Number : 16 Question Id : 8643512896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what value of dfsplacement the kinetic energy and pf}tential energy of a simple harmonic

oscillation become equal ?

Options :
8643518701, ¥ T A
8643518702, ¥ =0
: o in
8643518703. V2
A
x —_— s
Y
8643518704. =

Question Number : 16 Question Id : 8643512896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feramys € fan Wa @6t o 7ag »reddl 38 3 a1f3a o iz Afafsw §oa 9oy J 7t J7
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Options :
8643518701, Y= T A

8643518702, ¥ =0

' A
X=x —
A2

8643518703.
: MCQ Option Shuffling : Yes Is

K|

Y=

8643518704.
Question Number : 17 Question Id : 8643512897 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The output of the given combination gates represents
Y

A

B
Options :
8643518705, AND Gate
8643518706, NOR Gate
NAND Gate

8643518707.
XOR Gate

8643518708.
Question Number : 17 Question Id : 8643512897 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
18/87
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fe3 ae der = e »r@euz Tang e J 2

A

B

Options :

8643518705, AND <

8643518706, NOR <

8643518707, NAND dr<

8643518708, NOR 7€

Question Number : 18 Question Id : 8643512898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron of mass m and a phomn have same energy E. The ratio of wavc-lc-ngth of electron

to that of photon is : (c being the velocity of light)

Options :
{ E \.|1-'2
=
8643518709, -/
1/
- 2 I: A2
8643518710, © \2mE)

8643518711, “ °

1 { E V2
< (2m)

8643518712. 2m )

Question Number : 18 Question Id : 8643512898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

19/87



3/17/2021
m U+ =7 fiq foBaers w3 fiq @275 9gmgg Saam E Juwr J | fedagms 3 8275 &1 3991 durdt =r

waU3 J: (¢ YIH T ISt EaHwg e J)
Options :

3
8643518709, "

C [Emlﬂ}'E
8643518710,

1 (Zm T’é

I E r
8643518711,

I ( B Y
8643518712, € \2m )

Question Number : 19 Question Id : 8643512899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The vernier scale used for measurement has a positive zero error of 0.2 mm. If while taking
a measurement it was noted that ‘0" on the vernier scale lies between 8.5 cm and 8.6 cm,
vernier coincidence is 6, then the correct value of measurement is Cm.

(least count=0.01 cm)
Options :

8643518713, 508 cm

8643518714, 5:96 cm

8643518715, 504 cm

8643518716, 530 cm

Question Number : 19 Question Id : 8643512899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fare3t St 2937 et 29amid A8 (HSd) 0.2 mm ©f Ua3Hd fHed 3¢t gue" J | #a9 farsst

Za7 fog ufgwit I fa T98ta AaS (H'=d) 3 '0° 8.5 cm »f3 8.6 cm < fE9a79 I, T98MT 6 3 HS
YT J 37 farsst 2 /A9t HE cm I | (BHe §82=0.01 cm)
Options :

8643518713, 8-28 cm

8643518714, 506 cm

8643518715, 8-04 cm

8643518716, 5-36 cm

Question Number : 20 Question Id : 8643512900 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If an electron is moving in the nt! orbit of the hydrogen atom, then its velocity (v,,) for the nth

orbit is given as :
Options :

v x n2
8643518717. ™

8643518718. "

8643518719. L]

=

8643518720.

Question Number : 20 Question Id : 8643512900 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
F99 e fedaes TEI3AE YHE © n - gan 29 WHer 3 37 n 2 gan 29 forer 241 (v,) foor

Jrer T fae
Options :

0. x n2
8643518717. »
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0. XN
8643518718, "
Uy X A
n %
8643518719. 3
1
Up * —
8643518720. &
Physics Section B
Section Id : 864351194
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351194
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643512901 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For VHF signal broadcasting, km?2 of maximum service area will be covered by
an antenna tower of height 30 m, if the receiving antenna is placed at ground. Let radius of
the earth be 6400 km. (Round off to the Nearest Integer) (Take  as 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643512901 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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VHF fAara8 yATas St 30 m 8971 @ foa #i&dtar enmar Wign Jfewr §793H 439
km?2 I Aad THIRIET (YIS J937) #delaT IHT 3 Thin™ J | Tast T »igd fod™ 6400 km HE

(538 yIs »id 39 IFI w1E) (w=3.14 F)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643512902 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If 2.5 10 ~® N average force is exerted by a light wave on a non - reflecting surface of 30 cm?
area during 40 minutes of ime span, the energy flux of light just before it falls on the surface
is W/cm? (Round off to the Nearest Integer)

(Assume complete absorption and normal incidence conditions are there)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512902 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Aa9 f8d yaw 3341 30 em? T JI-»ru=I3T A3fT 873 40 fae ¥ AW ¥3 <978 wiH3 €8
25x 106N Hgel J | Ya™d T §aa7 <dm A3fa 3 U= 3 feaer ufasT W/cm?2 J1

(538 Uga wig 39 T3 wiTe)

(¥5 82 ydt 357 Afuz w3 wifggdas »mufaz S Ha3™ foF &g 75)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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Question Number : 23 Question Id : 8643512903 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Four identical rectangular plates with length, I=2 cm and breadth, b= cm are arranged

B3 |

S _ _ SRR :
as shown in figure. The equivalent capacitance between A and C is Tﬂ The value of x is

(Round off to the Nearest Integer)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643512903 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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939 &9 fou® »gAd I=2cm 3 b= %cm Ja3el € fod AT 979 wirfegrarg user fastn

I& | A w3 C ¥ fegag AHE9EE TaaT" ? I xTHS T (538 uas wia
37 TGS »1E)
A B 0 D
——He——r
d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643512904 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The equivalent resistance of series combination of two resistors is‘s’. When they are connected
in parallel, the equivalent resistance is ‘p’. If s=np, then the minimum value for n is
(Round off to the Nearest Integer)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643512904 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

sElTg 73 < Yf3Tuar o aHEged Yyf3eu v I | 72 fogs’ § AHT3g Afgwr I 37T AHET9Es

yf3su ‘p’ I | 789 s=np 3 n T {55531 H'E J1 (538 U35 wid 3 T9F wie)
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643512905 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A parallel plate capacitor whose capacitance C is 14 pF is charged by a battery to a potential
difference V=12 V between its plates. The charging battery is now disconnected and a
porcelin plate with k=7 is inserted between the plates, then the plate would oscillate back

and forth between the plates with a constant mechanical energy of pl.

(Assume no friction)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512905 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g {39 UBe Tad faAe! Taa3T (C) 14 pF J & 8 dedt eniar V=12V € ffd UeHE #3378
3 I9fa3 fa37 T | Je 994 g9 T8 Hedt gevel I »i3 k=7 T8 f8d ugfHEs (porcelin) USe &

UBe fegama orfug |3 I 37 uBe BT € fega p] €1 »dE HHIST G3AT 578 »idl-
fug 3B= J5att |
(V& J8t 398 &d1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512906 Question Type : SA

26/87



3/17/2021
Correct Marks : 4 Wrong Marks : 0

The radius in kilometer to which the present radius of earth (R =6400 km) to be compressed

so that the escape velocity is increased 10 times is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512906 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

waq fand _ __km # fg ¥WgeT ggt 2 i@y faed (R=6400 km) & HIfam 972 3]
UBTfeE 9t 10 dr&T =0 A2 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512907 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The angular speed of truck wheel is increased from 900 rpm to 2460 rpm in 26 seconds. The
number of revolutions by the truck engine during this time is

(Assuming the acceleration to be uniform).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512907 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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23d © Jfam 2 a2t a1t 26 AfdsT f&9 900 rpm 3 2460 rpm 3d Twe! J | few AH €976 299
<t foas owrar arfawr & Hivs J |

(¥3 y=2ar fog faar 9 )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643512908 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider two identical springs each of spring constant k and negligible mass compared to

the mass M as shown. Fig. 1 shows one of them and Fig. 2 shows their series combination.
- _

The ratios of time period of oscillation of the two SHM is Tl";.“r = \E , Where value of x is

S A

(Round off to the Nearest Integer)

LI L

00000
U000

2
0000

Fig 1

Fig 2
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643512908 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

THTS ATHT wid k »i3 57-93™Hg Ud ot 2 T8 AHS aH =™ Ud M 38 3™ J5 a2 &t f939
feg foufenr 7| 9391 357 &5 69 § fewSo I w2 1939 2 Govr © =3teg avs & fauge

. . . ) : r . o, -
J | T2 SHM ¥ 3B © »=d3 '8 ©F wigUT3 Tl;/;“r =Jx T T xT HB J |
A d

(338 Uga wig 39 T3 »iTe)

P LS

DO0OUJ
0000

00000

Fig 1

Fig 2
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643512909 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The following bodies,

(1) aring
(2) adisc
(3) asolid cylinder

(4) asolid sphere,

of same mass ‘m’ and radius ‘R’ are allowed to roll down without slippf_ng simultanenusl}-'

from the top of the inclined plane. The body which will reach first at the bottom of the
inclined plane is

[Mark the body as per their respective numbering given in the question]

0 N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512909 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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J& fa3tn TAgnT,
(1) fog 85
(2) fog gt
(3) foa 0 T

(4) ¥ B0 T

99T UH ‘m’ »3 wigy e ‘R’ § w8 38 © fig 2 83 A fag) fens Sefaa arst &t a3 us
33 &3t 91 we 2 gfow es 38 © 98 faust THZ UFan |
[ =A3 2 Saar &1 yre &9 o3t g Afun 578 Haa (fews) &9 1]

B '

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643512910 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two blocks (m=0.5 kg and M=4.5 kg) are arranged on a horizontal frictionless table as

shown in [ igure. The coefficient of static [ricion between the two blocks is F Then the

maximum horizontal force that can be applied on the la:ger block so that the blocks move

together is N. (Round off to the Nearest Integer) [Take g as 9.8 ms 2]
m
F
M —»

L o
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643512910 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

939 139 feue nigAa € 997 (m=05 kg »3 M=45 kg) f¥9 592 a3 B2 38 3 fae 98 |

<& g™ fegaH Afgg g8 Tr 98 - J | 23 990 GQUT B < Barfenr §93H 82T 98

-

£

N J 3q gan ffd ore © '8 98 | (38 YIs »id I IF3 »ie)

(837 J: g=98 ms~2)
m
F
M
o ST

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351195
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351195
Question Shuffling Allowed : Yes
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Question Number : 31 Question Id : 8643512911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A central atom in a molecule has two lone pairs of electrons and forms three single bonds.
The shape of this molecule is :

Options :

planar triangular

8643518731.

8643518732, 1 -Shaped

8643518733, “coSaAw

8643518734, Tigonal pyramidal

Question Number : 31 Question Id : 8643512911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fea wiz <8 adt uanz 39 € wizdfus (feadl uaM) fedaest w3 35 foas dus 951 3f niz &t
HagaT J :

Options :

8643518731. '

8643518732, 1-H990

8643518733, 2

8643518734. Jaet fudtfist

Question Number : 32 Question Id : 8643512912 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A colloidal system consisting of a gas dispersed in a solid is called a/an :
Options :

8643518735, aerosol
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8643518736, solidsol

8643518737, oam

8643518738, 8¢

Question Number : 32 Question Id : 8643512912 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UfSftus 9H & Ha9 &R Ufguuz aod fed aies g alde 96 ¢

Options :

8643518735, EOH
8643518736, °H A®

8643518737. ©H

8643518738.

Question Number : 33 Question Id : 8643512913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The absolute value of the electron gain enthalpy of halogens satisfies :
Options :

8643518739, F > C1> Br>1

8643518740, 1> F > Br>1

8643518741, <1 > Br>F>1

8643518742, 1> Br>Cl>F

Question Number : 33 Question Id : 8643512913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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IBal B fedaers gfoz wisEmdt & W H& (absolute value) A3AE J9€ J

Options :
8643518739, F > Cl>Br>1

8643518740, C1 > F > Br>1

8643518741, C1 > Br>F>1

8643518742, 1> Br>Cl>F

Question Number : 34 Question Id : 8643512914 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The point of intersection and sudden increase in the slope, in the diagram given below,

respectively, indicates :

0
-100— 0

——> AG"/kJ mol” of O,

‘l‘] 1

e 2

|

o
B

&

1%

' o)

-800 i -lfﬁP}'ﬂO"’
O
800~ A28
- ?ﬂ"igo
lm} - ‘;M P D]
1100~
1200
| 1 | | | A
0= 4DGPC B0 12000
273K 673K 1073 K 1473 K
—— Temperature
Options :
643518743 AG < 0 and decomposition of the metal oxide

8643518744.

AG >0 and decomposition of the metal oxide
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8643518745.

AG=0 and melti_ng or bc-ﬂing pnint of the metal oxide

8643518746.

AG =0 and reduction of the metal oxide

Question Number : 34 Question Id : 8643512914 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

J5 23 937 e areet fie 3 nowa 2% & o0 gHed orF 35 ?

0
100
ACu + 0342':112‘3
200
g L
=} R *].‘Ee*n C+0,—CO.
= -400F
f 131507 2C 4 O
E -500 ,1@3 H-}i.ﬂo "‘i-?Dg
g -600 i
(o] L.
a -700 A
T -800 Illl.aP;qu . g
900+ N >
a — omed
-1000|- g O
1100F
1200
] | | | 1 | | | |
[ 400°C HooeC 1200°C 1600°C
273K 673K 1073K 1473K  1873K
—— Temperature
Options :
f { =,
8643518743, G < 07 T niaRErs T feures
8643518744, AG > 0 03 T3 niaAEls = fewes
8643518745, AG=0 "3 flwsg 7 Go® To O3 niEREs T

8643518746.

AG=0nE T3 naEs T BUIIS
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Question Number : 35 Question Id : 8643512915 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The INCORRECT statement(s) about heavy water is (are)
(A) wused as a moderator in nuclear reactor

(B) obtained as a by-product in fertilizer industry

(C) wused for the study of reaction mechanism

(D) has a higher dielectric constant than water

Choose the correct answer from the options given below :
Options :
8643518747, () ONLY

8643518748, (B) only

8643518749, () only

8643518750, (0) and (D) only

Question Number : 35 Question Id : 8643512915 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt UEt 59 faagT 77 foas 986 383 335 |

(A) uaHE foniaes 9 Ag®d (moderator) 39 I3 AiET T

(B) wre Gewa &g Afg QU © 39 3 eer T

(C) mlads & goar ydifafonr © ass/mfnis @RS g3 aer T
(D) <€ Ug=! fansel AEE mid st &% 20 JeF J|

Js fhtmr feg pat B39 St 9= o ¢

Options :

8643518747. ©

8643518748. (B)

8643518749. (D)

8643518750. SEEllE i
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Question Number : 36 Question Id : 8643512916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct order of conductivity of ions in water is :
Options :
o4 ' ' -
8643518751, Cs* > Rb* >K* >Na

~ ¢ =+ b o
2643518757, Nat >K* >Rb* > GCs

b -t - b b
2643518753, K~ >Na® >Cs™ >Rb

8643518754, Rb* >Na® > K" >Li"

Question Number : 36 Question Id : 8643512916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UEt S st € AemesT o Rd gH U
Options :

8643518751, Cs* > Rb* >K* >Na*

Na* >K* >Bbh* > (x?

8643518752.
b -t b b
8643518753, & > Na® >Cs™ >Rb
b T b :
8643518754, R0 > Na® > K" >1Li

Question Number : 37 Question Id : 8643512917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following compound CANNOT act as a Lewis base ?
Options :

8643518755. 3
8643518756. PCly
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8643518757. b

S 1
8643518758,

Question Number : 37 Question Id : 8643512917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Options :

CIF
8643518755. 3

P{"S
8643518756.

8643518757. h

S 4
8643518758,

Question Number : 38 Question Id : 8643512918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the spin-only magnetic moment value (BM) of a divalent metal ion with atomic
number 25, in it's aqueous solution ?

Options :

8643518759. 5.0

8643518760, °-20

2
8643518761. i

8643518762, 210

Question Number : 38 Question Id : 8643512918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T A O3 vits farer uaHE wig 25 I © 7l us f&e ffus yas g9at Hie (BM) & HiE T 2
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Options :

8643518759, 9.0

8643518760, ~-20

8643518761. 392

8643518762. £

Question Number : 39 Question Id : 8643512919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : Potassium permanganate on heating at 573 K forms potassium manganate.

Statement 11 : Both potassium permanganate and potassium manganate are tetrahedral
and paramagnetic in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :
8643518763, Both statement I and statement 11 are false

643518764 Both statement I and statement 1l are true

8643518765 Statement [ is true but statement 11 is false

8643518766, Statement 1 is false but statement 11 is true

Question Number : 39 Question Id : 8643512919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J& € g8s o3 95

TGS 1:  UeTH udnaee § 573K I9H 96 &% USTHMH Habe g8 J|
TGS 1l : T UM UTHIBE »iS USTmiH Habe gesdl »iS niggaal 36 |
BuT 1= aun’ & e Jo o g Sae E3T e 9= &
Options :

2643518763 o d86 | I3 dga 1l 953 Ja |
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8643518764, O GG 1 »3 TES 11 I I5 |
8643518765, XEB L AIT T UT TEG 1 a3 T

2643518766, XE6 1T®3 T uT &E6 11 RIt T |

Question Number : 40 Question Id : 8643512920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reducing smog is a mixture of :
Options :

8643518767, Smoke, fog and 03

8643518768, Smoke, fog and SDE

8643518769 Smoke, fog and 1‘*~IED'3

s6a3518770. ~mokes fog and CH, =CH-CHO

Question Number : 40 Question Id : 8643512920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Swaad Al fea fhpas der T -
Options :

8643518767. S, BN

o™, g0 w3 SO,
8643518768. = 2
Unfr, 4u w3 N,O,
8643518769. ~ =3

8643518770, 3> YA ¥ CHy,=CH-CHO

Question Number : 41 Question Id : 8643512921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I :  Retardation factor (R;) can be measured in meter/centimeter.
Statement Il : R, value of a compound remains constant in all solvents.
Choose the most appropriate answer from the options given below :

Options :
3643518771 Both statement 1 and statement 11 are true
2643518772 Both statement I and statement Il are false

8643518773 Statement | is true but statement 11 is false

3643518774, Statement 1 is false but statement 11 is true

Question Number : 41 Question Id : 8643512921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Jo' € 986 3 76

aEs |:  wewds aEe (Ry) B Heaidhies s aufenr wer 3
aus 1l . fan Gfsa & Ry ¥s Ao wsat 99 Afgg sfder 1

5 fegtnr =5 A= So= B &t 9= a9

Options :

2643518771, =0 86 103 s 11 AdT 95|

8643518772. o oHgs | g ogs 1l 93 J6 |

8643518773, 86 | Adt T ug o895 11 a&s J1

8643518774, G 1 T3 J ug &8s 1L AdE 1

Question Number : 42 Question Id : 8643512922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is an aromatic compound ?

Options :
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8643518775. :>
8643518776. :>®
8643518777. @
8643518778. ©

Question Number : 42 Question Id : 8643512922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
J5 Ty difaat =9 faoa wenfea faa 7 ?
Options :

8643518775.

vl

8643518776.
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8643518777.

8643518778.

Question Number : 43 Question Id : 8643512923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HI5r

I PR

(Major Product)

Product “A” in the above chemical reaction is :

Options :
Br
CH,
8643518779. :
i CH;
8643518780. CHj
Br
CH,4
8643518781. Hs
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8643518782. CHj

Question Number : 43 Question Id : 8643512923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HEBr
A

CCl §
CH; . (e Bum)
Bug o3 grfaa AHigEs feg “A” & T :
Options :
Br
8643518779.
| g
CHj
"H
8643518780. i
Br
CH,4
8643518781. Hs
Br
CHj,
CH-
8643518782. -

Question Number : 44 Question Id : 8643512924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
45/87
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+ NaOH

v

The above reaction requires which of the following reaction conditions ?
Options :

-
2643518783, 023 K, Cu, 300 atm

2643518784, 272 K, Cu, 300 atm

o |
3643518785, 023 K, 300 atm

8643518786, >/ 0 K, 300 atm

Question Number : 44 Question Id : 8643512924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cl ———

+MNaOH >

gug 3 mitags ®2t faadtnt I ffimr orfes Fes 951
Options :

2643518783, 023 K, Cu, 300 atm

3643518784, 273 K, Cu, 300 atm
8643518785, 623 K, 300 atm

8643518786, 2/ K, 300 atm

Question Number : 45 Question Id : 8643512925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mesityl oxide is a common name of :

Options :

46/87



3/17/2021
: y - en-2-
8643518787. 4—Meth}l pent J-en-Z-one

AT e A
8643518788, 2A-Dimethyl pentan-3-one

7N e
8643518789, = Methyl cyclohexanone

8643518790, 3-Methyl cyclohexane carbaldehyde

Question Number : 45 Question Id : 8643512925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HHIETE S WIdRTES @ e & J

Options :

8643518787, FHIEED Ue-3-Ela-2-1i0

8643518788, 2A-SEHEES UeEs-3-ni

8643518789, 2-HIEENS AEISJaHEG

I-HIEE® Aote® draanEs aes
8643518790, >

Question Number : 46 Question Id : 8643512926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hoffmann bromomide degradation of benzamide gives product A, which upon heating with

CHC 13 and NaOH gives product B.

The structures of A and B are :

Options :
O O
NH, NH,

CHO

8643518791, Br Br
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NH,

A —
8643518792.
NH,
A —
8643518793, Br
NH,
Rz
8643518794

Question Number : 46 Question Id : 8643512926 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

NC
B —
NH,
- CHO
Br
NH,
= CHO

I He S9HErs fowes ot AHiams 99 TaaHels Bun A ffer 31 7 fa CHCL, »i3 NaOH &%

J9H o9= 3 SR B foer T
A3 BT gHTd AI9 76|
Options :

o)
NH,

8643518791, Br

NH,

8643518792.

NH,

CHO

Br

NC
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NH, NH,
CHO

8643518793.

CHO

8643518794.

Question Number : 47 Question Id : 8643512927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O
Ethylene Glycol
EJ(:ZHS > A
H™* (Major Product)

The prnduct “A" in the above reaction is :

Options :
O 'e)
OCsH5
8643518795,
O
8643518796, OH
0
N\

/ OCrHs

OH

8643518797.
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Q
DM
DCEI I5

8643518798.

Question Number : 47 Question Id : 8643512927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

Ethylene Gl}n:c:l " A

OC,H: = ¥

Eug T3 mitaos S99 “A” T
Options :

OH

P

O O

PIN
OCsoHs5

8643518795.

8643518796.

/DCZI I5

OH

O
Dﬁ
DCEH 5

8643518797.

8643518798.
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Question Number : 48 Question Id : 8643512928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction is an example of ammonolysis ?
Options :

3643518790, O B HGHLNH, 5 CHCONHCH,

CH-.CH,CN _Ml | ¢ H.CH,CH,NH
8643518800, © o 2~ T 7 65222

8643518801, CeHsCHCL NH; —— CgHCHNH,

8643518802. CgHsNH, _HA , CH;NH;Cl

Question Number : 48 Question Id : 8643512928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
J5 it feg faoat mas=tthy € fEa Geaes T2
Options :

3643518790, O BTN, 5 CeHCONHCH,

CH.CH,CN _MHl | ¢ H.CH,CH,NH
8643518800, @ o~ 27 T ? 6 5222

3643513801, | TRk g Cpb oD

s61351880y. C6HIsNH2 S CHsNHCl

Question Number : 49 Question Id : 8643512929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

With respect to drug-enzyme interaction, identify the wrong statement.
Options :

2643518803, Competitive inhibitor binds to the enzyme’s active site

8643518804, Allosteric inhibitor changes the enzyme’s active site
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2643518805, Allosteric inhibitor competes with the enzyme's active site

2643518806, Non-Competitive inhibitor binds to the allosteric site

Question Number : 49 Question Id : 8643512929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TEEMT-3 Hied §3uTa = iRt »igT fafoer © s93/Feg S5 793 o8 ©f 9 a9 -
Options :

8643518803, HE®E Yi3dua, Hies G3uaa € fafoni® & € dus gager 7 |

8643518804, nBAcTad Ul3aud died B3Uad = fafondis 8 ‘9 gom=E aaet J |

nEAcTaa ufsaua Afea G3uga <t fafondls o o HassT J9 J |
8643518805.

8643518806, 919 HOT=ST yf3oue wEAcfaa 5 © g3 J|

Question Number : 50 Question Id : 8643512930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the § nllnwf.ng is correct structure of tyrosine ?

Options :
COOH
HsN H _OH
8643518807.
COOH
H,N I
OH
8643518808.
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COOH

H,N H

OH

=4

8643518809.

COOH

H,N

OH

St

8643518810.

Question Number : 50 Question Id : 8643512930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U5 ffen 59 2EIGHIS (tyrosine) T Aol HogaT U |

Options :
COOH
HyN 4%, OH
8643518807.
COOH
OH
8643518808.
COOH
HsN H
OH

8643518809.
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COOH
H>N H
OH
8643518810.
Chemistry Section B
Section Id : 864351196
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351196
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643512931 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The mole fraction of a solute in a 100 molal aqueous solutionis __ x107=
(Round off to the Nearest Integer).
|Given : Atomic masses: H: 1.0 u, O : 16.0 u]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 51 Question Id : 8643512931 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10 Hees™ =@ Aot us o ufss o v wg x10-231
(837 338 uds via 3 f&59)
[fEzr U :uawa=t 9: H: 1.0 u, 0 : 16.0 u]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 8643512932 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The pressure exerted by a non-reactive gaseous mixture of 6.4 g of methane and 8.8 g of

carbon dioxide in a 10 L vessel at 27°C is ~ kPa.

(Round off to the Nearest Integer).

[Assume gases are ideal, R=8.314 | mol L1
Atomic masses : C: 120 u, H: 1.0 u, O: 16.0 u]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643512932 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
fea mifafondts st fugos 29 6.4 aTH HiBs »2 8.8 a7y oogs S=hmaA=1s 3 10 L 5935 <9
27C SuHE Bug feper wamr . kPa 41 )
(€37 338 yds wig 3 f&54)
[]—nl?_‘:' dIAf we9r 76, R=8.314 J mol 1 K1
ygH ==t 9: C:120u, H: 1.0 u, O: 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512933 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A certain orbital has n=4 and m; = 3. The number of radial nodes in this orbital is

. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512933 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

foH niafee® fAA ffe n=4 3 m; = -3 | foR {90 g% IS WS (radial nodes) _
I5 1 (83T 538 UTs nid 3 f&5H)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643512934 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I and

The standard enthalpies of formation of Al,O, and CaO are —1675 k] mol
635 k] mol ! respectively.

For the reaction

3Ca0 + 2A1 — 3Ca + Al,O; the standard reaction enthalpy A HY=

(Round off to the Nearest Integer).

K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643512934 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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AL O, »F CaO T g5z Tt A9 wisamUm — 1675 kJ mol ~ ! n3 — 635 k] mol ~ ! gHed & |
o3t mitas =8
3Ca0 + 2A1 — 3Ca + AL O, = Aesus fafonr nmamdt A HY = k] J1
(837 338 uds via 3 f&5Y)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
100

Question Number : 55 Question Id : 8643512935 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The oxygen dissolved in water exerts a partial pressure of 20 kPa in the vapour above water.
The molar solubility of oxygen in water is % 10~ mol dm ™3,
(Round off to the Nearest Integer).

[Given: Henry's law constant = K; =8.0x10* kPa for O.,.

Density of water with dissolved oxygen = 1.0 kg dm 7]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643512935 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

uEr = Gus nigdiFs T U d& ©F WiaHHAs ©F UEt @9 weE 3 witfge T 20 kPa T9A g J1
WigHHAS ©f HS93T WHEHmsT U &g %1075 mol dm~3 J1
(837 33% uds niz 39 fa)
[fesr3: Tadt = fouH AfET nig = K;=8.0x10* kPa, O, &e! |
wE It iare f<9 Ut 2 wesm = 1.0 kg dm 7]

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 56 Question Id : 8643512936 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
0.01 moles of a weak acid HA (K, =2.0x10 %) is dissolved in 1.0 L of 0.1 M HCI solution.
The degree of dissociation of HA is %10~ (Round off to the Nearest Integer).
[Neglect volume change on adding HA.
Assume degree of dissociation <<I]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :
100

Question Number : 56 Question Id : 8643512936 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.01 v& £ aHAT 37" HA (K,=2.0x10 6)F 1.0 Blew 0.1 M HCI 5 wienr famr J1 HA T
feues & Tamr x107° J1(839 &3 uds nid 3 f&Y)

[H& HA T UGz &% muss 99 & 9997 god Uer 9 w3 fewes & Tarr <<1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643512937 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 mL of aqueous solution of Fe2t in acidic medium completely reacted with 20 mL of
0.03 M aqueous Crzf_};T_. The molarity of the Fe?" solution is %10 2 M. (Round

off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643512937 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 mL Fe?* ¥ 7t s & It Wrafons 9 uet 57 fafom a@@= @8t 20 mL 0.03 M 78 Cr, 02

=93 |3t At 91 Fe?t T us o Heesr x1072M J1 (37 338 Uss nig 37 %4)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 8643512938 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
For a certain first order reaction 32% of the reactant is left after 570 s. The rate constant of

this reactionis = x10"3g~1, (Round off to the Nearest Integer).
[Given : log,;2=0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643512938 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

foa ufgst aet yStafow far &9 570 Afds 3 amr 32% wifggeHa (Reactants) 9 9fd A 0& |
frm ufsfafon & <1 Afge »ig x10~-3s-13) (837 37® Uds nid 3 f&H)
[fg=r T : log,,2=0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 59 Question Id : 8643512939 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of white phosphorus on boiling with alkali in inert atmosphere resulted in the
formation of product “A’. The reaction of 1 mol of ‘A" with excess of AgNO, in aqueous
medium gives mol(s) of Ag. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643512939 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fea yfsfafanr {29 o eHSTR & »EST &% 319 Ho®(inert atmosphere) 29 Bawz 3 fFa G
‘A’ geet 91 fer yfsfafonr 89 1 18 A @ uet T Hite 59 30 AgNO, &5 iz

e Ag e 7(839 338 yIs wid 3 )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643512940 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO;,
H,S0,

S
>

In the above reaction, 3.9 g of benzene on nitration gives 4.92 g of nitrobenzene. The
percentage yield of nitrobenzene in the above reaction is %. (Round off to the
Nearest Integer).

(Given atomic mass : C:120u, H:1.0u, O: 160 u, N : 14.0 u)
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643512940 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,
HNO;
H,50,

U 3 milags &9, 3.9 g adls aEichs B3 4.92 g adle Harls feer o fem yfsfafonr feg
&TEIC HaHls YfSEs Ueeg % J1 (B39 338 yds wia 3 )

{ﬁ':"?_t" J:C:120u, H:1.0u,0:160u, N : 14,0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351197
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351197
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643512941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

In a school, there are three types of games to be played. Some of the students play two types
of games, but none play all the three games. Which Venn diagrams can justify the above
statement 7

P Q R
Options :

8643518821, L and Q

8643518822, [ and R

8643518823, 2 and R

8643518824 None of these

Question Number : 61 Question Id : 8643512941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
et 35 yzT st vz | Quias a5 & faus S5 9T AT g Rae 0% 2

DWW

Options :
8643518821, L "3 Q

8643518822, L "3 R
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8643518823. L

fogst f&9 aet s
8643518824

Question Number : 62 Question Id : 8643512942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the triangle with vertices A(z), B(iz) and C(z +1iz) is :

Options :

B | =

8643518825.

=

8643518826.

M| =

8643518827.

—

8643518828.

Question Number : 62 Question Id : 8643512942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f3gw fare g A(z), B(iz) 2 C(z +iz) 5, BHET 4398 J :

Options :

1

—z'liz2

2
8643518825.

B

ji
8643518826, 2

2

2
8643518827
8643518828,
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Question Number : 63 Question Id : 8643512943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s (0 sine | ' fom 1)
If A= . and det | A s | | = (), then a possible value of « is :
| SN 1y i 2
Options :
L
8643518829, 4
-
3
8643518830.
w
8643518831, b
.
=
8643518832. -~

Question Number : 63 Question Id : 8643512943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

" (0 sineo | o '§ ” 1 3 . "
AT A= | 73 det |[A2 -~ ~1]| =0, "W« THITRE HB T -
| SInoe 0} , B L
Options :
am
1
8643518829.
ful
3
8643518830.
.Tr
6
8643518831.
s
2
8643518832.
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Question Number : 64 Question Id : 8643512944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The system of equations kx+y+z=1,x+ky+z=k and x+y 1 zk=k? has no solution if k is
equal to :

Options :

8643518833, 0
8643518834,
8643518835, 1
2
8643518836.

Question Number : 64 Question Id : 8643512944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AHETsT St yE 8t kx +y+z=1, x tky + z=k »3 x+y+zk=Kk I8 I I8 &1 #ad k 9990
J:

Options :

8643518833, U

8643518834, 1

8643518835, |

8643518836, 2

Question Number : 65 Question Id : 8643512945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Team “A’ consists of 7 boys and n girls and Team ‘B’ has 4 boys and 6 girls. If a total of 52
single matches can be arranged between these two teams when a boy plays against a boy
and a girl plays against a girl, then n is equal to :

Options :

8643518837. 2
65/87



3/17/2021

8643518838,

8643518839. 5

8643518840. 5

Question Number : 65 Question Id : 8643512945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A38! (M) ‘A’ 7 B34 »id n S3fani™ &t 921 I8 I w3 g5 ‘B 98 4 BId M3 6 SIfami™ T3 |
Had 9J psemi fE9ad I8 52 HI™HE J9=7¢ 77 Ha< 36 A¢ f8d B3, 9 3 © fuse »i3
ffg Bzdi e fumse Uysat J, 32 n 9999 o ;

Options :

2
8643518837. ~

8643518838. -

8643518839. 3

8643518840. 0

Question Number : 66 Question Id : 8643512946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the fourth term in the expansion of (x 1 xlogy M7 is 4480, then the value of x where x € N is
equal to:

Options :

8643518841.

]

8643518842.

8643518843.

8643518844.
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Question Number : 66 Question Id : 8643512946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
733 (x+alog2 Y S URg RS dE ue 480 T I 2 T HS (B x e N) 5993 T :
Options :

8643518841.

-2

8643518842.
8643518843.

8643518844.

Question Number : 67 Question Id : 8643512947 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of 4 4 is :
1
5 4 ;
4 4 :
5 4
4+ ... e
Options :
.
2 30
8643518845. o
2+ % /30
8643518846. V5
5+ 2430
8643518847. 3
4
4 4 I—EJSD
8643518848. v

Question Number : 67 Question Id : 8643512947 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

. 1 THE T
1
5 4 :
4 4 1
54
44+ ... e
Options :
2+ =30
8643518845.
$ oo
2 + —+/30
8643518846. 5
: )
54 =30
8643518847 2
Rt s
4+ —f3
J5
8643518848.

Question Number : 68 Question Id : 8643512948 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If cot~1{a)=cot= 12+ cot =18 +cot ~118 + cot— 132 + ..... upto 100 terms, then w is :
Options :

3643518849, 100

8643518850, 1-01

8643518851, 1-02

8643518852, 1-03

Question Number : 68 Question Id : 8643512948 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a9 cot ™ (a)=cot™ 12+ cot ™8 + cot " 118 + cot ™ 132 +..... 100 US7 3, 3T a J :
Options :
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8643518849. Y

8643518850, 101

2
8643518851. 1.02

8643518852, 1.03

Question Number : 69 Question Id : 8643512949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The inverse of y=5]"ﬁx is :

Options :
1
ir 5](:5;3_;
8643518853.
.
e _U]UES
8643518854, :
-=5logy
8643518855,
- y]:}EE
8643518856.

Question Number : 69 Question Id : 8643512949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y=>5logx g7 @82 T :

Options :

8643518853.

8643518854.

69/87



3/17/2021

x = 5logy
8643518855.

.. logh
8643518856, Y=V "F

Question Number : 70 Question Id : 8643512950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

s S
The value of 1M cos” \x — [xI')

sin~ 1 (x [1]2]
x—=0"

3 , where [x] denotes the greatest
B

integer = x 1s:

Options :
=
4
8643518857.

8643518858, U

SIER

8643518859.

8643518860.

Question Number : 70 Question Id : 8643512950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

PR | N R TR . ; : : :
Him, 208 13 x1°) o =) T HE T, T8 [x] wifaasH Huas AfimT <y Eeamg e
: =
J:
Options :
il
8643518857, *

0
8643518858.
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M|=l.

8643518859.

8643518860.

Question Number : 71 Question Id : 8643512951 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for the function g(«) for a € R such that

5 sin®x
(o) = - dx
= i cos”x + sin“x
Options :
8643518861 g(w) is a strictly increasing function

8643518862 g(w) is a strictly decreasing function

1
g(«) has an inflection point at « = 5
8643518863.

g(a) is an even function
8643518864.

Question Number : 71 Question Id : 8643512951 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sin®x

BB g(a), a ¢ R Bt I fafumit 135 faoz ags At 5t T aefa 8(o) =

".‘:~|.—:| l._‘...*|.—:|
=

cos™x + sin"x
Options :

g(o) AUt &5 T0=T B J |
8643518861

8643518867, 8(c) T &3 WewT 355 T |

. 1.5 :
g(a) I8 « = — = I §39-T3™ (inflection) g T |
8643518863. 2
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g(o) fEa Az 355 T |
8643518864,

Question Number : 72 Question Id : 8643512952 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is true for y(x) that satisfies the differential equation

'cly
— = 1+x—1vy:y{0)=0":
Fale ) y:y0)
Options :
' o
¥ilj=e = —1
8643518865.
' 1
y(l)=e2 — 1
8643518866. J( )

8643518867.

s643518868. V(D=1

Question Number : 72 Question Id : 8643512952 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ﬁWﬁy{xjwmﬁaﬁﬁﬁmm%=w 1+x—y;y0)=0%

HIHE q9<° J :
Options :
_1
y(l)=e 2 -1
8643518865.
} 1
y(l) =e2 -1
8643518866. "
5 iy ;
¥E)—a? —a's
8643518867.
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y(l)=1
8643518868. j{ )

Question Number : 73 Question Id : 8643512953 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a triangle POR, the co-ordinates of the points P and Q are ( — 2, 4) and (4, —2) respectively.
If the equation of the perpendicular bisector of PR is 2x —y+ 2=0, then the centre of the
circumcircle of the APOR is :

Options :

8643518869. (1, 4)

2
8643518870. (0. 2)

(=1, 0)
8643518871,

(-2, -2)

8643518872.

Question Number : 73 Question Id : 8643512953 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feq f3ga PQR <9 fig P »i3 Q © fooem »id gHEd (- 2,4) »3 (4, —2) I5 | 793 PR 89

HAHEI™E & AHEEE 2x —y +2=0 J, 32 APQR ¥ Ufga=d I :
Options :

8643518869, (L 4)

2
8643518870. ©.2)

(-1,0)
8643518871.

. 2
8643518872. =g

Question Number : 74 Question Id : 8643512954 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The line 2x—y+1=0 is a tangent to the circle at the point (2, 5) and the centre of the circle

lies on x — 2y =4. Then, the radius of the circle is :

Options :

3643518873, SV3

8643518874, N4

8643518875, 45

ENG
8643518876. 345

Question Number : 74 Question Id : 8643512954 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 2~y +1=0 a8 = e (2,5) I HUSH 397 J w3 Jad T ded x - 2y=4 Bug I | I= da8
o7 wiay e J

Options :

8643518873, V3

3643518874, SV4

o

8643518875.

8643518876. 35

Question Number : 75 Question Id : 8643512955 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about the two circles whose equations are given below :
x4 yz 10x — 10y +41=0 and

x2 4 yz l6x — 10y +80=0

Options :

8643518877 Circles have two intersection points.
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2643518878 poth circles pass through the centre of each other.

3643518879 Both circles” centres lie inside region of one another.

Distance between two centres is the average of radii of both the circles.
864351888&0.

Question Number : 75 Question Id : 8643512955 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

< Jag & € Avlags I35 fod 78, Bet 983 998 98
2+ 2~ 10x— 10y +41=0 »3

x2+y?—16x— 10y +80=0

Options :
3643518877, 990 o0 € AL THE T |

8643518878. e e L <9 G

8643518879, == 999 © A=T fea gra T »ivgat ¥33 <9 75 |

c643518380, % AST (€9ag gal, B I T wigy fenH <t wiF3 3

Question Number : 76 Question Id : 8643512956 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong MarKks : 1
The equation of the plane which contains the y-axis and passes through the point (1, 2, 3)
IS

Options :

8643518881, X T2=6

8643518882, ¥ T3z=10

8643518883, X 13z=0

I
=

8643518884, X 2
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Question Number : 76 Question Id : 8643512956 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3% fan Gua y ga™ I w3 g (1, 2, 3) &5 Buwer J, & AHiaas 7 -

Options :

8643518881, X tz=6

xr+3
8643518882.

8643518883.

Ir—z=
8643518884, 0

Question Number : 77 Question Id : 8643512957 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the Boolean expression (p = q) < (q = (~p)) is a tautology, then the Boolean expression
p * (~q) is equivalent to :

Options :
8643518885, F 4

5
8643518886. 2 s

8643518887. 1 P

8643518888, 1 P

Question Number : 77 Question Id : 8643512957 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Had FEME FHETS (p = q) < (q * (~p)) B Ugs Ga3t (78e&H) I, 3¢ T8 AHldas
p * (~q) AHG'3ES J :

Options :

—
8643518885. ) :
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8643518886. £~ 4

8643518887. 1 P

8643518888, 1 P

Question Number : 78 Question Id : 8643512958 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a =2i —3j +4kand b =7i + j — 6k.

—

- | T - l; | 2; | Fr = -3,then r - 2; ’5; + k)1s equal to :

—— — ——
T

It r X a =
Options :

8643518889.

8643518890. xy

8643518891, 12

8643518892, 19

Question Number : 78 Question Id : 8643512958 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ho 8 a =20 ~3j +4k "3 b =7i + j - 6k, A

rxa=r1rxb, r-i IZ-j I Ir:|= 39,3% 1 - (20 'i; I k]EIT:]"'EIEI%
Options :
8
8643518889.
10
8643518890.
12
8643518891.
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8643518892.

Question Number : 79 Question Id : 8643512959 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two dices are rolled.

pmbahﬂit}-' that the sum of the numbers on the top faces is less than or r_-qual to8is:

Options :

8643518893.

8643518894.

8643518895. -

8643518896.

Question Number : 79 Question Id : 8643512959 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

13

If both dices have six faces numbered 1, 2, 3, 5, 7 and 11, then the

2 Urfimit & Hfew (rolled) famu™ I | 789 22 Ufind® € 8 28a Qua Hivw™ai 1, 2, 3,5, 7 W3 11

nifazs I& 3¢ g © s off Aft=r T 43 8 77 for 3 we wge 2t ig=sT J -

Options :

8643518893.

8643518894.

8643518895.

x=:|.4'--'

17
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b | =

8643518896.

Question Number : 80 Question Id : 8643512960 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f . f
. . i : | 2 ¥
The sum of possible values of x for tan 1(3: + 1) + cot 1| |= tan 1| ﬁ| is :
h e

x—1)

Options :

8643518897. 4

8643518898. 4

8643518899.

8643518900, *

Question Number : 80 Question Id : 8643512960 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

tan '(x + 1) + cot 1|r 1. \|=ta_n 1[%]8&&1@@1{:@35&*?%%:
\ X F, ool

Options :

33
8643518897.
32
4
8643518898.
31
4
8643518899.
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8643518900.

Mathematics Section B

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351198
6

Online
Mandatory
10

5

20

Yes

1
864351198
Yes

Question Number : 81 Question Id : 8643512961 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum value of z in the following equation z=6xy + L.rz, where 3x+4y = 100 and

4x+3y = Dforx =2 0andy = 0is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643512961 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

HHEas z=6xy +y% z T »ifuadsH HS 8 3x+4y = 100 %3 4x+3y = 75, x = 0 »3

L,r_'-_‘ﬁ[]BEFI' ﬂ'|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 82 Question Id : 8643512962 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

g 2 : ,.
If A= { 1], then the value of det(A%) + det( A0~ (Adj(24))") is equal to _

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643512962 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

2 10
)

i .Y - .
g9 A= [ ] 32 det(A?) + det( A - (Adj2A)

0 1
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512963 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If (2021)%762 is divided by 17, then the remainder is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512963 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Hag (2021)762F 17 IFfewr A, I H9dr |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512964 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

_1,4

If the function f(x)=

is continuous at each point in its domain and

£(0) = % then k is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512964 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

x-l

H3d TBS f(x) = f@aq@émﬁgéw%ﬁh@.f(upiﬁk

g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512965 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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I[f [ - | represents the greatest integer function, then the value of

\IIIJ%[[:-LE] cnsx}dx is

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512965 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

\.II

H9d | - | MifTa3H HYSE Aftn™ 288 § Eang = J 3¢

[[1‘2] cnsx}dx THE

T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643512966 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum distance between any two points P, and P, while considering point P, on one

circle and point P'2 on the other circle for the given circles’ equations
x2+y2—-10x—10y+41=0
leyz 24x l[]yl 160=0 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 86 Question Id : 8643512966 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e fig P, »3IP,RoaafeGaangdt __  JReiwac st figp, §fea Saam3 Mg P, §
od Ja9 QU3 fa3r famr 3, Ja97 T AHigas 75 |

x2+y2—-10x— 10y +41=0

x2 4 L.r2 24x - 10y +160=0

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643512967 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f the equation of the plane passing through the line of intersection of the planes
2x -7y +4z—-3=0, 3x—5y+4z+11=0 and the point (-2, 1, 3) is ax + by +cz—7=0, then
the value of 2Za+b+c—7 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643512967 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H99 3B A 1 IV 20Ty +4z-3=0 »3 3x-5y+4z+11=0 & e oy &9 w3 fig
(-2,1,3) &9 Swe I &t mftgas ax +by+cz-7=0 9, € 2a+b+c-7 T HS ___
ol

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643512968 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let there be three independent events E, E, and E,. The probability that only E,; occurs is «,
only E; occurs is 5 and only E; occursis y. Let “p’ denote the probability of none of events
occurs that satisfies the equations (a—2B)p=ap and (§ —3y)p=2py. All the given
probabilities are assumed to lie in the interval (0, 1).

Pr obability of occurrence of E;

Then, is equal to

Pr Dhabﬂit}-' of occurrence ol E;i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643512968 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H& B8 Ey, E, »3 E, {36 A= wea= 35 | AR E, Wes © wee & wes AT<s" o , M9 E,
cueEs S B3 g E, @ wes Sty J 1| Has 88 p fan fe wee € & wes &t Ag=ee §
ToRg T I 7 fa AHEEET (a—28)p =ap W3 (B 3y)p=2Ry & H3HS Io=' J ATfan’ AIesT=r
3T (0, 1) f29 Hient afnr 75

. E, ¢ uwes It "Aaes
-~ i g3gg T

E, T wez <t Hgesr
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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Question Number : 89 Question Id : 8643512969 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-y ™y
(1 - 22x)

i
1+27))

o T ’ J b
and its first derivative with respect to x is —ll.’:-gE 2 when

If f(x)= sm{cns 1

5 £ ® ) ) &
x=1, where a and b are integers, then the minimum value of |a=— b= is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512969 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

.Y :
. : 2% ) y t o
nafaf(x)ﬂm{mslﬁ w3 B3 T x ¥ ¥E3 ufgmyT SR Elngez J 7
\ x_. | Y d
x=1, A8 a w3 b Ugs »ig T5, 3T (a2 b?| T faGaav v ol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512970 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If a —ai +pBj +3k,

b = [ﬂ.f' rx-_;" k and

: = —3, then l[{: " Ej : ?] is equal to

1 and E . 3

such that a - F
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 90 Question Id : 8643512970 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e

99 a —ai +pj +3k,

-

b = E]-!;. rt;r L L

gy a4 e .
At a-b=1w3p - ¢ = -3, F %{[;), .- S
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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